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《第二題》
均勻彈簧在作用力F下 
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《第三題》
(1)

From graph


[image: image21.wmf]Hz

250

ms

4

1

T

1

f

=

=

=

  #

[image: image22.wmf]s

m

20

ms

0.25

cm

0.5

v

=

=

  #

[image: image23.wmf]cm

8

m

0.08

f

v

=

=

=

l

  #

[image: image24.wmf][

]

f

w

+

=

t

-

kx

sin

y

t)

y(x,

m




(1)

[image: image25.wmf]m

10

5

mm

5

y

-3

m

´

=

=



(2)

[image: image26.wmf]1

-

m

25

2

k

p

l

p

=

=




(3)

[image: image27.wmf]-1

s

500

f

2

p

p

w

=

=




(4)

[image: image28.wmf]m

y

y(0.005,0)

=

Q

代入(1) with (2), (3), (4)

[image: image29.wmf]p

f

8

3

=

Þ



[image: image30.wmf]m

8

3

t

500

-

x

25

sin

0.005

t)

y(x,

ú

û

ù

ê

ë

é

+

=

\

p

p

p

  #

with x in m, t in s.

(2)


[image: image31.wmf][

]

t

-

kx

sin

y

y

m

1

w

=



[image: image32.wmf][

]

t

kx

sin

y

y

m

2

w

+

=



[image: image33.wmf][

]

t

cos

sinkx

2y

y

y

y

m

2

1

w

=

+

=



[image: image34.wmf]sinkx

2y

A

m

=

Þ






(5)
代入
[image: image35.wmf]m

0.005

y

m

=

，
[image: image36.wmf]m

0.005

x

=

，
[image: image37.wmf]-1

m

25

k

p

=



[image: image38.wmf][

]

m

0.005

25

0.01sin

A

´

=

Þ

p



[image: image39.wmf][

]

m

0.125

0.01sin

p

=



[image: image40.wmf]m

8

0.01sin

ú

û

ù

ê

ë

é

=

p



[image: image41.wmf]q

q

q

q

2

2

2

2sin

-

1

sin

-

cos

cos2

=

=

Q



[image: image42.wmf]2

cos2

-

1

sin

q

q

=



[image: image43.wmf]2

2

-

2

2

2

2

-

1

2

4

cos

-

1

8

sin

=

=

=

Þ

p

p


at 
[image: image44.wmf]m

0.005

x

=



[image: image45.wmf]m

10

3.8268

m

2

2

-

2

0.01

A

3

-

´

=

´

=


《第四題》
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